515 indeterminate) x 520(dctcrminatc)
(AABB) l (aabb)

Fl(indeterminate) X 520(determinate)

(AaBb) l (aabb)
e

F BC1F1 (Indeterminate: determinate=3:1)
(Indeterminate: dzeterminate=15:1) (AaBb+Aabb+aaBb:aabb)
(A_B_+A_bb+aaB_:aabb)
X 520(determinate)
(aabb)

BCZFl (Indeterminate: determinate=1:1)
(Eﬁ:aabb)

Select a strain with a 1:1 segregation ratio and X 520(determinate)
identify one of the genes as DrDT1 (Aabb) (aabb)

v
BC3F1 (Indeterminate: determinate=1:1)
(Aabb):(aabb)

A:BrDT1 =

a:Brdt1l X 520(dctcrminatc)
B:BrDT2 il (aabb
b:Brdt2 BC4F1 (Indeterminate: determinate=1:1)

(Aabb):(aabb)

Figure S1: population construction



